Tabulation of Bids

Awarded to: Zignego Company, Inc.	Date Awarded: 09/16/22	Amount Awarded (includes Base Bid) \$13,654,095.05		
	Project Manager:	Andrew Trimble	Consultant:	Westwood
State of Wisconsin	Airport:	ATW - Appleton International	Bid Date:	6/9/2022
Department of Transportation	Project:	ATW1010 Contract 1 / SAP-94 / 0744-40-94	Bid Time:	2:00 P.M.
Bureau of Aeronautics	Bid for:	Terminal Apron Expansion	DBE Goals:	4.5%

DESCRIPTION: BASE BID - Term	inal Apron Expansion, Stormwater Detention Facility, AWOS relocation		Zignego Company, W226 N2940 Duplai Waukesha, WI 531	inville Road	Vinton Construction 2705 N. Rapids Roa Manitowoc, WI 5422	d				
Bid Item	Description	Quantity Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
C-100	CONTRACTOR QUALITY CONTROL PROGRAM (CQCP)	1 LS	\$200,000.00	\$200,000.00	\$150,000.00	\$150,000.00		\$0.00		\$0.00
C-105-6.1	MOBILIZATION, BASE BID (10% MAX.)	1 LS	\$974,000.00	\$974,000.00	\$501,000.00	\$501,000.00		\$0.00		\$0.00
C-105-7	FIELD OFFICE	1 EA	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00		\$0.00		\$0.00
P-101-5.1	PCC PAVEMENT REMOVAL	26,240 SY	\$4.75	\$124,640.00	\$1.50	\$39,360.00		\$0.00		\$0.00
P-101-5.2	ASPHALT PAVEMENT REMOVAL	3,550 SY	\$2.30	\$8,165.00	\$4.00	\$14,200.00		\$0.00		\$0.00
P-152-4.1	UNCLASSIFIED EXCAVATION	163,000 CY	\$8.95	\$1,458,850.00	\$13.95	\$2,273,850.00		\$0.00		\$0.00
P-153-6.1	CONTROLLED LOW-STRENGTH MATERIAL	100 CY	\$100.00	\$10,000.00	\$185.00	\$18,500.00		\$0.00		\$0.00
P159.010	SITE FINISHING	1 LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00		\$0.00		\$0.00
P160.140	REMOVE PCC GUTTER	1,320 LF	\$1.00	\$1,320.00	\$5.00	\$6,600.00		\$0.00		\$0.00
P160.180	REMOVE CONCRETE MASONRY	1 LS	\$500.00	\$500.00	\$1,390.00	\$1,390.00		\$0.00		\$0.00
P160.220	REMOVE INLET	3 EA	\$575.00	\$1,725.00	\$515.00	\$1,545.00		\$0.00		\$0.00
P160.270	ABANDON CULVERT PIPE	3 EA	\$12,095.00	\$36,285.00	\$867.00	\$2,601.00		\$0.00		\$0.00
P160.300	REMOVE STORM SEWER UNDER 30-INCH DIAMETER	368 LF	\$23.00	\$8,464.00	\$98.00	\$36,064.00		\$0.00		\$0.00
P160.350	REMOVE CULVERT UNDER 30 INCH DIA.	656 LF	\$23.00	\$15,088.00	\$31.90	\$20,926.40		\$0.00		\$0.00
P160.360	REMOVE CULVERT 30 TO 42 INCH DIAMETER	48 LF	\$34.50	\$1,656.00	\$40.00	\$1,920.00		\$0.00		\$0.00
P-209-5.1	CRUSHED AGGREGATE BASE COURSE	38,510 TON	\$0.01	\$385.10	\$18.95	\$729,764.50		\$0.00		\$0.00
P-209-5.2	SEPARATION GEOTEXTILE	59,000 SY	\$2.00	\$118,000.00	\$3.10	\$182,900.00		\$0.00		\$0.00
P-219-5.1	RECYCLED CONCRETE AGGREGATE BASE COURSE	8,190 CY	\$28.40	\$232,596.00	\$0.01	\$81.90		\$0.00		\$0.00
305.0120	BASE AGGREGATE DENSE 1 1/4-INCH	10,640 TON	\$11.05	\$117,572.00	\$13.20	\$140,448.00		\$0.00		\$0.00
311.0110	BREAKER RUN	4,000 TON	\$19.70	\$78,800.00	\$18.85	\$75,400.00		\$0.00		\$0.00
P-306-8.1	LEAN CONCRETE BASE COURSE, 5-INCH	52,300 SY	\$31.00	\$1,621,300.00	\$26.20	\$1,370,260.00		\$0.00		\$0.00
350.0102	SUBBASE	3,035 CY	\$6.15	\$18,665.25	\$26.00	\$78,910.00		\$0.00		\$0.00
450.4000	HMA COLD WEATHER PAVING	1,350 TON	\$5.00	\$6,750.00	\$3.00	\$4,050.00		\$0.00		\$0.00

455.0605	TACK COAT	390 GAL	\$10.10	\$3,939.00	\$3.90	\$1,521.00	\$0.00	\$0.00
465.0105	ASPHALTIC SURFACE (4 MT 58-28 H)	1,350 TON	\$110.65	\$149,377.50	\$98.60	\$133,110.00	\$0.00	\$0.00
465.0120	ASPHALTIC SURFACE DRIVEWAYS AND FIELD ENTRANCES	50 TON	\$174.75	\$8,737.50	\$255.00	\$12,750.00	\$0.00	\$0.00
465.0125	ASPHALTIC SURFACE TEMPORARY	200 TON	\$178.15	\$35,630.00	\$104.00	\$20,800.00	\$0.00	\$0.00
P-501-2.7A	DRILLED DOWEL BARS	3,170 EA	\$30.00	\$95,100.00	\$16.00	\$50,720.00	\$0.00	\$0.00
P-501-2.7B	DRILLED TIE BARS	400 EA	\$30.00	\$12,000.00	\$12.00	\$4,800.00	\$0.00	\$0.00
P-501-8.1	PCC PAVEMENT 10-INCH	6,000 SY	\$63.00	\$378,000.00	\$81.73	\$490,380.00	\$0.00	\$0.00
P-501-8.2	PCC PAVEMENT, 15-INCH	52,200 SY	\$86.00	\$4,489,200.00	\$78.59	\$4,102,398.00	\$0.00	\$0.00
P-501-8.3	PCC PAVEMENT, 15-INCH TEMPORARY	1,530 SY	\$86.00	\$131,580.00	\$77.82	\$119,064.60	\$0.00	\$0.00
416.0180	CONCRETE DRIVEWAY 8-INCH	390 SY	\$70.00	\$27,300.00	\$77.24	\$30,123.60	\$0.00	\$0.00
P-620-5.1a	SURFACE PREPARATION	6,260 SF	\$0.95	\$5,947.00	\$0.95	\$5,947.00	\$0.00	\$0.00
P-620-5.2b.1	MARKING BLACK WATERBORNE TYPE 1	7,850 SF	\$5.70	\$44,745.00	\$5.70	\$44,745.00	\$0.00	\$0.00
P-620-5.2b.2	MARKING BLUE WATERBORNE TYPE 1	2,700 SF	\$5.80	\$15,660.00	\$5.80	\$15,660.00	\$0.00	\$0.00
P-620-5.2b.3	MARKING WHITE WATERBORNE TYPE 1	7,000 SF	\$5.70	\$39,900.00	\$5.70	\$39,900.00	\$0.00	\$0.00
P-620-5.2b.4	MARKING YELLOW WATERBORNE TYPE 1	8,180 SF	\$5.70	\$46,626.00	\$5.70	\$46,626.00	\$0.00	\$0.00
P-620-5.2b.5	MARKING RED WATERBORNE TYPE 1	330 SF	\$6.00	\$1,980.00	\$6.00	\$1,980.00	\$0.00	\$0.00
P-620-5.3c	REFLECTIVE MEDIA, TYPE I, GRADATION A	1,100 LB	\$0.55	\$605.00	\$0.55	\$605.00	\$0.00	\$0.00
P-620-5.4d	TEMPORARY TAXIWAY MARKING	1,200 SF	\$5.30	\$6,360.00	\$5.30	\$6,360.00	\$0.00	\$0.00
P-620-5.5e.1	MARKING WORDS BLUE WATERBORNE TYPE 1	28 EACH	\$180.00	\$5,040.00	\$180.00	\$5,040.00	\$0.00	\$0.00
X62199	DIAMOND GRINDING CONCRETE PAVEMENT	200 SY	\$100.00	\$20,000.00	\$63.40	\$12,680.00	\$0.00	\$0.00
P640.015	SAWING ASPHALT	100 LF	\$2.25	\$225.00	\$2.25	\$225.00	\$0.00	\$0.00
P640.025	SAWING CONCRETE	5,090 LF	\$2.75	\$13,997.50	\$2.75	\$13,997.50	\$0.00	\$0.00
P642.020	FIELD LABORATORY	1 EA	\$30,000.00	\$30,000.00	\$10,000.00	\$10,000.00	\$0.00	\$0.00
P643.010	AIRPORT CONSTRUCTION TRAFFIC CONTROL, BASE BID	1 LS	\$298,000.00	\$298,000.00	\$48,000.00	\$48,000.00	\$0.00	\$0.00
P643.020	BARRICADES AIRCRAFT OPERATIONS AREA	191,200 DAY	\$0.01	\$1,912.00	\$1.90	\$363,280.00	\$0.00	\$0.00
P644.012	RIPRAP MEDIUM	20 CY	\$46.85	\$937.00	\$100.00	\$2,000.00	\$0.00	\$0.00
P645.020	GEOTEXTILE FABRIC TYPE HR	80 SY	\$3.20	\$256.00	\$6.00	\$480.00	\$0.00	\$0.00
P646.010	MAINTENANCE AND REPAIR OF HAUL ROADS	1 LS	\$10,000.00	\$10,000.00	\$1.00	\$1.00	\$0.00	\$0.00
P646.020	MAINTENANCE AND REPAIR OF AIRPORT HAUL ROADS	1 LS	\$10,000.00	\$10,000.00	\$1.00	\$1.00	\$0.00	\$0.00
D701.100	CULVERT PIPE CORRUGATED STEEL 12-INCH	86 LF	\$65.20	\$5,607.20	\$59.00	\$5,074.00	\$0.00	\$0.00
D701.221	CULVERT PIPE REINFORCED CONCRETE CLASS IV 15-INCH	24 LF	\$92.35	\$2,216.40	\$98.00	\$2,352.00	\$0.00	\$0.00
D701.222	CULVERT PIPE REINFORCED CONCRETE CLASS IV 18-INCH	24 LF	\$104.20	\$2,500.80	\$106.00	\$2,544.00	\$0.00	\$0.00
D701.224	CULVERT PIPE REINFORCED CONCRETE CLASS IV 24-INCH	24 LF	\$141.70	\$3,400.80	\$135.00	\$3,240.00	\$0.00	\$0.00
D701.227	CULVERT PIPE REINFORCED CONCRETE CLASS IV 36-INCH	200 LF	\$239.55	\$47,910.00	\$198.00	\$39,600.00	\$0.00	\$0.00

D701.400 APRON ENDWALLS FOR CULVERT PIPE CORRUGATED STEEL 12-INCH	2 EA	\$580.65	\$1,161.30	\$346.00	\$692.00	\$0.00	\$0.00
D701.640 STORM SEWER REINFORCED CONCRETE CLASS V 12-INCH	80 LF	\$89.55	\$7,164.00	\$77.00	\$6,160.00	\$0.00	\$0.00

D701.644	STORM SEWER REINFORCED CONCRETE CLASS V 24-INCH	2,127 LF	\$186.40	\$396,472.80	\$133.00	\$282,891.00	\$0.00	\$0.00
D701.645	STORM SEWER REINFORCED CONCRETE CLASS V 27-INCH	232 LF	\$232.00	\$53,824.00	\$157.00	\$36,424.00	\$0.00	\$0.00
D701.646	STORM SEWER REINFORCED CONCRETE CLASS V 30-INCH	357 LF	\$243.75	\$87,018.75	\$177.00	\$63,189.00	\$0.00	\$0.00
D701.501	APRON ENDWALLS FOR CULVERT PIPE REINFORCED CONCRETE 15-INCH	2 EACH	\$1,425.40	\$2,850.80	\$1,207.00	\$2,414.00	\$0.00	\$0.00
D701.502	APRON ENDWALLS FOR CULVERT PIPE REINFORCED CONCRETE 18-INCH	4 EACH	\$1,527.35	\$6,109.40	\$1,352.00	\$5,408.00	\$0.00	\$0.00
D701.504	APRON ENDWALLS FOR CULVERT PIPE REINFORCED CONCRETE 24-INCH	4 EACH	\$1,555.95	\$6,223.80	\$1,548.00	\$6,192.00	\$0.00	\$0.00
D701.506	APRON ENDWALLS FOR CULVERT PIPE REINFORCED CONCRETE 30-INCH	3 EACH	\$1,852.35	\$5,557.05	\$1,900.00	\$5,700.00	\$0.00	\$0.00
D701.507	APRON ENDWALLS FOR CULVERT PIPE REINFORCED CONCRETE 36-INCH	2 EACH	\$2,615.20	\$5,230.40	\$2,521.00	\$5,042.00	\$0.00	\$0.00
D705.106	AIRPORT UNDERDRAIN 6-INCH	5,200 LF	\$35.85	\$186,420.00	\$25.50	\$132,600.00	\$0.00	\$0.00
D705.406	PIPE UNDERDRAIN UNPERFORATED 6-INCH	250 LF	\$35.85	\$8,962.50	\$25.50	\$6,375.00	\$0.00	\$0.00
612.0406	PIPE UNDERDRAIN WRAPPED 6-INCH	1,250 LF	\$35.85	\$44,812.50	\$8.50	\$10,625.00	\$0.00	\$0.00
D-751.012	MANHOLE WITH TYPE J CASTING, 5-FOOT DIAMETER	1 EA	\$11,569.65	\$11,569.65	\$8,953.00	\$8,953.00	\$0.00	\$0.00
D751.071	INLETS 2X3-FT, WITH HM CASTING	2 EA	\$4,420.95	\$8,841.90	\$3,850.00	\$7,700.00	\$0.00	\$0.00
D752.021	STORM WATER INLET, TYPE 1, WITH R-3475-E CASTING	15 EA	\$15,564.45	\$233,466.75	\$12,624.00	\$189,360.00	\$0.00	\$0.00
D752.022	STORM WATER INLET, TYPE 2, WITH R-3475-F CASTING	3 EA	\$14,393.50	\$43,180.50	\$13,592.00	\$40,776.00	\$0.00	\$0.00
D752.024	RECONSTRUCT INLET 100	1 EA	\$6,514.55	\$6,514.55	\$7,400.00	\$7,400.00	\$0.00	\$0.00
D752.025	RECONSTRUCT INLET 200	1 EA	\$7,060.65	\$7,060.65	\$7,400.00	\$7,400.00	\$0.00	\$0.00
D752.026	RECONSTRUCT INLET 202	1 EA	\$10,507.35	\$10,507.35	\$18,638.00	\$18,638.00	\$0.00	\$0.00
D752.027	RECONSTRUCT INLET 203	1 EA	\$9,014.65	\$9,014.65	\$12,825.00	\$12,825.00	\$0.00	\$0.00
D754.031	CONCRETE DITCH 3-FOOT WIDE	1,610 LF	\$50.00	\$80,500.00	\$27.50	\$44,275.00	\$0.00	\$0.00
601.0586	CONCRETE CURB & GUTTER 4-INCH SLOPED 30-INCH TYPE TBTT	240 LF	\$40.00	\$9,600.00	\$45.00	\$10,800.00	\$0.00	\$0.00
X901.010	AIRPORT SEEDING MIXTURE	3,100 LB	\$29.36	\$91,016.00	\$11.35	\$35,185.00	\$0.00	\$0.00
T901.030	SEEDING TEMPORARY	2,270 LB	\$4.04	\$9,170.80	\$4.00	\$9,080.00	\$0.00	\$0.00
T901.040	WATERING SEEDING	200 MGAL	\$20.00	\$4,000.00	\$25.00	\$5,000.00	\$0.00	\$0.00
T902.020	FERTILIZER, TYPE B	55 CWT	\$80.00	\$4,400.00	\$130.00	\$7,150.00	\$0.00	\$0.00
T905.015	SALVAGED TOPSOIL	83,900 SY	\$0.70	\$58,730.00	\$1.85	\$155,215.00	\$0.00	\$0.00
T908.020	HYDRO-MULCHING DOUBLE RATE	46,200 SY	\$1.36	\$62,832.00	\$1.55	\$71,610.00	\$0.00	\$0.00
628.1504	SILT FENCE	2,100 LF	\$1.90	\$3,990.00	\$2.10	\$4,410.00	\$0.00	\$0.00
628.1520	SILT FENCE MAINTENANCE	2,100 LF	\$0.05	\$105.00	\$0.10	\$210.00	\$0.00	\$0.00
628.1905	MOBILIZATIONS EROSION CONTROL	15 EA	\$225.00	\$3,375.00	\$375.00	\$5,625.00	\$0.00	\$0.00
628.1910	MOBILIZATIONS EMERGENCY EROSION CONTROL	5 EA	\$275.00	\$1,375.00	\$300.00	\$1,500.00	\$0.00	\$0.00
628.2008	EROSION MAT URBAN CLASS 1 TYPE B	35,675 SY	\$2.21	\$78,841.75	\$2.10	\$74,917.50	\$0.00	\$0.00
628.7005	INLET PROTECTION TYPE A	24 EA	\$120.00	\$2,880.00	\$130.00	\$3,120.00	\$0.00	\$0.00
628.7010	INLET PROTECTION TYPE B	28 EA	\$105.00	\$2,940.00	\$60.00	\$1,680.00	\$0.00	\$0.00

X162.080	TEMPORARY CHAIN LINK FENCE GATE, 10' HEIGHT, 20' WIDTH	1 EA	\$10,000.00	\$10,000.00	\$19,750.00	\$19,750.00	\$0.00	\$0.00
628.7560		1 EA	\$3,087.00	\$3,087.00		\$3,500.00		\$0.00
628.7555	CULVERT PIPE CHECKS	33 EA	\$24.00	\$792.00	\$18.00	\$594.00	\$0.00	\$0.00
628.7504	TEMPORARY DITCH CHECKS	288 LF	\$8.70	\$2,505.60	\$9.50	\$2,736.00	\$0.00	\$0.00

DESCRIPTION:								
ALTERNATE B - /	Airfield Lighting		Zignego Company, I	nc.	Vinton Construction C	Company	0	
Bid Item	Description	Quantity Unit	Unit Price	Total	Unit Price	Total	Unit Price Total	Unit Price Total
C-105-6.3	MOBILIZATION, ALTERNATE B (10% MAX.)	1 LS	\$14,000.00	\$14,000.00	\$36,000.00	\$36,000.00	\$0.00	\$0.00
P-101-5.1	PCC PAVEMENT REMOVAL	40 SY	\$10.00	\$400.00	\$25.00	\$1,000.00	\$0.00	\$0.00
P-501-2.7A	DRILLED DOWEL BARS	10 EA	\$100.00	\$1,000.00	\$16.00	\$160.00	\$0.00	\$0.00
P-501-2.7B	DRILLED TIE BARS	10 EA	\$100.00	\$1,000.00	\$12.00	\$120.00	\$0.00	\$0.00
P-501-8.1	PCC PAVEMENT 10-INCH	30 SY	\$300.00	\$9,000.00	\$100.00	\$3,000.00	\$0.00	\$0.00
P640.025	SAWING CONCRETE	150 LF	\$2.75	\$412.50	\$2.75	\$412.50	\$0.00	\$0.00
P643.012	AIRPORT CONSTRUCTION TRAFFIC CONTROL, ALTERNATE B	1 LS	\$1,000.00	\$1,000.00	\$8,500.00	\$8,500.00	\$0.00	\$0.00
SPV.0105.02	AWOS RELOCATION	1 LS	\$49,199.31	\$49,199.31	\$49,211.56	\$49,211.56	\$0.00	\$0.00
L108.303	FLEXIBLE POLYETHYLENE DUCT 1-1/2 INCH	6,085 LF	\$2.24	\$13,630.40	\$2.25	\$13,691.25	\$0.00	\$0.00
L108.310	TRENCH OR PLOW	3,525 LF	\$1.07	\$3,771.75	\$1.07	\$3,771.75	\$0.00	\$0.00
L108.320	COUNTERPOISE PLOW	1,070 LF	\$1.28	\$1,369.60	\$1.28	\$1,369.60	\$0.00	\$0.00
L108.508	5000 VOLT CABLE NO. 8	43,920 LF	\$1.36	\$59,731.20	\$1.36	\$59,731.20	\$0.00	\$0.00
L108.604	600 VOLT CABLE NO. 4	19,860 LF	\$2.22	\$44,089.20	\$2.22	\$44,089.20	\$0.00	\$0.00
L108.608	600 VOLT CABLE NO. 8	8,990 LF	\$1.21	\$10,877.90	\$1.21	\$10,877.90	\$0.00	\$0.00
L108.706	BARE COUNTERPOISE WIRE, NO. 6	4,840 LF	\$1.28	\$6,195.20	\$1.28	\$6,195.20	\$0.00	\$0.00
X108.707	INSULATED COUNTERPOISE WIRE, NO. 6	750 LF	\$1.54	\$1,155.00	\$1.54	\$1,155.00	\$0.00	\$0.00
L108.810	COUNTERPOISE GROUND ROD	23 EA	\$130.32	\$2,997.36	\$130.33	\$2,997.59	\$0.00	\$0.00
L108.280	CABLE MARKERS	2 EA	\$158.74	\$317.48	\$158.75	\$317.50	\$0.00	\$0.00
L109.120	REGULATOR, 6.6A, 20KW	1 LS	\$19,626.17	\$19,626.17	\$24,030.47	\$24,030.47	\$0.00	\$0.00
L110.241	ELECTRICAL DUCT TYPE II 4-INCH 1-WAY	25 LF	\$48.43	\$1,210.75	\$48.43	\$1,210.75	\$0.00	\$0.00
L110.244	ELECTRICAL DUCT TYPE II 4-INCH 4-WAY	130 LF	\$182.09	\$23,671.70	\$182.14	\$23,678.20	\$0.00	\$0.00
L110.246	ELECTRICAL DUCT TYPE II 4-INCH 6-WAY	1,260 LF	\$162.23	\$204,409.80	\$162.27	\$204,460.20	\$0.00	\$0.00
L110.248	ELECTRICAL DUCT TYPE II 4-INCH 8-WAY	210 LF	\$210.01	\$44,102.10	\$210.06	\$44,112.60	\$0.00	\$0.00
L110.300	DUCT MARKER	1 EA	\$197.94	\$197.94	\$197.97	\$197.97	\$0.00	\$0.00
X110.500	NONMETALLIC CONDUIT, SCHEDULE 40, 1-INCH	900 LF	\$5.10	\$4,590.00	\$5.10	\$4,590.00	\$0.00	\$0.00
L115.100	ELECTRICAL MANHOLE, 56X56X60-INCH, CONCRETE	6 EA	\$12,815.26	\$76,891.56	\$12,818.99	\$76,913.94	\$0.00	\$0.00
L115.500	EXISTING MANHOLE ELEVATION ADJUSTMENT	2 EA	\$6,643.33	\$13,286.66	\$6,645.20	\$13,290.40	\$0.00	\$0.00
X115.600	REPLACE EXISTING ELECTRICAL MANHOLE COVER	1 EA	\$3,666.76	\$3,666.76	\$3,667.86	\$3,667.86	\$0.00	\$0.00
X115.601	REPLACE EXISTING ELECTRICAL HANDHOLE COVER	1 EA	\$4,388.14	\$4,388.14	\$4,389.47	\$4,389.47	\$0.00	\$0.00
L115.900	ELECTRICAL HANDHOLE, 24X36X36-INCH, CONCRETE	5 EA	\$7,537.44	\$37,687.20	\$7,539.62	\$37,698.10	\$0.00	\$0.00

L125.343	MEDIUM INTENSITY TAXIWAY LIGHT, L-861T LED, BASE MOUNTED	31 EA	\$1,129.48	\$35,013.88	\$1,084.31	\$33,613.61	\$0.00	\$0.00
X125.344	MEDIUM INTENSITY TAXIWAY LIGHT, L-861T, BASE MOUNTED, LED CONVERSION	23 EA	\$755.96	\$17,387.08	\$502.12	\$11,548.76	\$0.00	\$0.00
L125.450	RELOCATE GUIDANCE SIGN, SIGN 75	1 LS	\$4,202.11	\$4,202.11	\$2,796.79	\$2,796.79	\$0.00	\$0.00
L125.620	REMOVE RUNWAY OR TAIXWAY BASE MOUNTED LIGHT	38 EA	\$122.50	\$4,655.00	\$122.50	\$4,655.00	\$0.00	\$0.00
L125.630	REMOVE TAXIWAY GUIDANCE SIGN	3 EA	\$316.99	\$950.97	\$316.99	\$950.97	\$0.00	\$0.00
L125.650	SPARE ELECTRICAL EQUIPMENT	1 LS	\$4,257.13	\$4,257.13	\$2,024.92	\$2,024.92	\$0.00	\$0.00
X001.001	REMOVE AND SALVAGE TERMINAL LIGHTING UNIT	2 EA	\$242.91	\$485.82	\$242.91	\$485.82	\$0.00	\$0.00
X001.002	REMOVE AND SALVAGE APRON LIGHTING UNIT	2 EA	\$1,024.57	\$2,049.14	\$1,024.57	\$2,049.14	\$0.00	\$0.00
X001.003	REMOVE APRON LIGHTING UNIT	2 EA	\$1,024.57	\$2,049.14	\$1,024.57	\$2,049.14	\$0.00	\$0.00
X001.004	REMOVE CONCRETE BASE	8 EA	\$79.25	\$634.00	\$79.25	\$634.00	\$0.00	\$0.00
X001.005	REMOVE CABLE AND DUCT MARKERS	2 EA	\$23.77	\$47.54	\$23.77	\$47.54	\$0.00	\$0.00
X001.006	REINSTALL APRON LIGHTING UNIT	2 LS	\$5,662.67	\$11,325.34	\$5,664.32	\$11,328.64	\$0.00	\$0.00
X001.007	REINSTALL TERMINAL LIGHTING UNIT	2 LS	\$509.29	\$1,018.58	\$509.34	\$1,018.68	\$0.00	\$0.00
X001.008	NEW TERMINAL LIGHTING UNIT - SINGLE	7 LS	\$5,193.74	\$36,356.18	\$5,195.20	\$36,366.40	\$0.00	\$0.00
X001.009	NEW TERMINAL LIGHTING UNIT - TWIN	2 EA	\$6,754.03	\$13,508.06	\$6,755.93	\$13,511.86	\$0.00	\$0.00
X001.010	NEW TERMINAL LIGHTING UNIT - TRIPLE	1 EA	\$10,600.41	\$10,600.41	\$10,603.47	\$10,603.47	\$0.00	\$0.00
X001.011	NEW APRON LIGHTING UNIT	1 EA	\$9,332.26	\$9,332.26	\$9,334.95	\$9,334.95	\$0.00	\$0.00
X001.012	CONCRETE BASES	15 EA	\$1,387.86	\$20,817.90	\$1,388.08	\$20,821.20	\$0.00	\$0.00
X001.013	AWOS COMMUNICATION CABLE	2,540 LF	\$2.05	\$5,207.00	\$2.05	\$5,207.00	\$0.00	\$0.00
X001.014	REMOVE HANDHOLE	9 EA	\$541.67	\$4,875.03	\$541.71	\$4,875.39	\$0.00	\$0.00
X001.016	TEMPORARY CIRCUIT	1,865 LF	\$3.64	\$6,788.60	\$3.65	\$6,807.25	\$0.00	\$0.00
X001.017	MISCELLANEOUS ELECTRICAL BUILDING WORK	1 LS	\$1,729.61	\$1,729.61	\$1,729.68	\$1,729.68	\$0.00	\$0.00
X001.018	MISCELLANEOUS TERMINAL BUILDING WORK	1 LS	\$4,885.60	\$4,885.60	\$4,886.36	\$4,886.36	\$0.00	\$0.00
X001.020	AWOS POWER AND COMMUNICATIONS ENCLOSURES	1 LS	\$8,458.01	\$8,458.01	\$8,460.12	\$8,460.12	\$0.00	\$0.00
X001.021	REMOVE EXISTING WIND CONE	1 LS	\$2,408.44	\$2,408.44	\$2,408.44	\$2,408.44	\$0.00	\$0.00
X001.022	INSTALLING NEW WIND CONE	1 LS	\$7,112.97	\$7,112.97	\$7,022.77	\$7,022.77	\$0.00	\$0.00
X001.023	REMOVE EXISTING CEILOMETER	1 LS	\$836.06	\$836.06	\$836.09	\$836.09	\$0.00	\$0.00
X001.024	MANHOLE CABLE RACKS	8 EA	\$3,471.63	\$27,773.04	\$3,472.50	\$27,780.00	\$0.00	\$0.00
X001.020	LOCATE, TEST AND PROTECT EXISTING AND NEW CIRCUITS	1 LS	\$3,962.36	\$3,962.36	\$3,962.36	\$3,962.36	\$0.00	\$0.00
	ALTERNAT	Έ B - Airfield Lighting		\$902,602.94		\$918,656.56	\$0.00	\$0.00

DESCRIPTION:			Zignego Company,	Inc.	Vinton Construction	Company	0		0
	Runway Weather Information System								
Bid Item	Description	Quantity Unit	Unit Price	Total	Unit Price	Total	Unit Price Total	Unit Price	Total
C-105-6.5	MOBILIZATION, ALTERNATE D (10% MAX.)	1 LS	\$4,000.00	\$4,000.00	\$8,000.00	\$8,000.00	\$0.00		\$0.00
P643.014	AIRPORT CONSTRUCTION TRAFFIC CONTROL, ALTERNATE D	1 LS	\$22,000.00	\$22,000.00	\$8,500.00	\$8,500.00	\$0.00		\$0.00
P643.020	BARRICADES AIRCRAFT OPERATIONS AREA	1,100 DAY	\$0.01	\$11.00	\$1.90	\$2,090.00	\$0.00		\$0.00
P643.040	LIGHTED RUNWAY CLOSURE CROSS	6 DAY	\$2,000.00	\$12,000.00	\$150.00	\$900.00	\$0.00		\$0.00
L108.303	FLEXIBLE POLYETHYLENE DUCT 1-1/2 INCH	1,080 LF	\$2.24	\$2,419.20	\$2.25	\$2,430.00	\$0.00		\$0.00
L108.310	TRENCH OR PLOW	865 LF	\$1.07	\$925.55	\$1.07	\$925.55	\$0.00		\$0.00
L108.604	600 VOLT CABLE NO. 4	3,360 LF	\$2.23	\$7,492.80	\$2.23	\$7,492.80	\$0.00		\$0.00
L110.241	ELECTRICAL DUCT TYPE II 4-INCH 1-WAY	110 LF	\$88.78	\$9,765.80	\$88.80	\$9,768.00	\$0.00		\$0.00
L110.300	DUCT MARKER	3 EA	\$142.19	\$426.57	\$142.20	\$426.60	\$0.00		\$0.00
L115.900	ELECTRICAL HANDHOLE, 24X36X36-INCH, CONCRETE	3 EA	\$7,595.34	\$22,786.02	\$7,597.58	\$22,792.74	\$0.00		\$0.00
X001.019	MISCELLANEOUS GLYCOL BUILDING WORK	1 LS	\$2,022.66	\$2,022.66	\$2,023.18	\$2,023.18	\$0.00		\$0.00
SPV.0105.03	RUNWAY WEATHER INFORMATION SYSTEM	1 LS	\$91,088.01	\$91,088.01	\$91,112.82	\$91,112.82	\$0.00		\$0.00
	ALTERNATE D - Runway Wea	ther Information System		\$174,937.61		\$156,461.69	\$0.00		\$0.00

TOTAL ALTERNATE C - Geothermal Bore Field TOTAL ALTERNATE D - Runway Weather Information System	\$4,332,944.10 \$174,937.61	\$4,276,793.60 \$156,461.69	\$0.00	\$0.00
TOTAL ALTERNATE B - Airfield Lighting	\$902,602.94			\$0.00
FOTAL ALTERNATE A - Taxiway E Relocation & Apron Reconstruction	\$2,347,945.21	\$2,294,102.31	\$0.00	\$0.00
FOTAL BASE BID - Terminal Apron Expansion, Stormwater Detention Facility, AWOS relocation	\$12,576,554.50	\$12,623,897.00	\$0.00	\$0.00